
Fill in the Blanks Roots of Cubic Equations 
 

 

Quartic Equation  𝜶 𝜷 𝜸 𝜹 ∑𝜶 ∑𝜶𝜷 ∑𝜶𝜷𝜸 ∑𝜶𝜷𝜸𝜹 

𝑧4 + 𝑧3 − 7𝑧2 − 𝑧 + 6 = 0 −1 2 1 −3 −1 −7 1 6 

𝑧4 − 3𝑧3 − 8𝑧2 + 12𝑧 + 16 = 0 4 −1 −2 2 3 −8 −12 16 

6𝑧4 − 29𝑧3 − 9𝑧2 + 21𝑧 − 5 = 0 
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2𝑧4 − 3𝑧3 − 12𝑧2 + 7𝑧 + 6 = 0 −
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𝑧4 − 5𝑧3 + 10𝑧2 − 10𝑧 + 4 = 0 1 2 1 + 𝑖 1 − 𝑖 5 10 10 4 

𝑧4 − 4𝑧3 + 𝑧2 + 6𝑧 − 40 = 0 1 + 2𝑖 1 − 2𝑖 −2 4 4 1 −6 −40 

3𝑧4 − 11𝑧3 + 9𝑧2 + 13𝑧 − 10 = 0 
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𝑧4 − 8𝑧3 + 24𝑧2 − 32𝑧 + 20 = 0 1 + 𝑖 1 − 𝑖 3 + 𝑖 3 − 𝑖 8 24 32 20 

9𝑧4 + 30𝑧3 + 23𝑧2 − 22𝑧 + 10 = 0 
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